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Q1 8: Ahmed acquired an inheritance of 15000 AED at age 8, but he will not
have access to it until he turns 18

s108) (e GSaly (A aisl ol ge ) 8 pae (B a2 15000 dadly & e o daal Juas
Ll 18 du ol Jd axde cBlalaall

a. How much will Ahmed’s inheritance be worth if it is placed in
an account that achieves a monthly Compound interest rate of
5.4% on his eighteenth birthday?
pSd L g S ja Al a8 5.4% ($iag s A Gl (A 430y g ol 1)

¢ pde (il aaMa 8 a gy (B daaf & e dad Aliin

--------------------------------------------------------------------------------------------------------------------------------------
--------------------------------------------------------------------------------------------------------------------------------------

....................................................................................................................................

b. How much will Ahmed’s inheritance be worth if it is
placed in an account earning 4.5% interest Compounded
Continuously?
dopay 8 50 Aoyl A Gilan (B 48) e da g a3 3] dan] il e dah il oS
bz 4.5%

o Laaf 3 lsl) Cilaglaall aadid .g.u.n\é.“ daulail |7 98 dxaag @9 Oldmg Jakas il lagy (8305
- alaliew Of Aads (s3 Jlall faGa sgaas
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2. Emaninvests AED 1200 in a certificate of deposit (CD). The
table shows the interest rates offered by the bank on 3- and 5-year
CDs.

a. How much would her investment be worth with each option?

BALAN sl Jgaadl sy ((CD) £l Balgdi A ad 42 1200 Glay) safiind
Sl s 59 3 Baal gla) wlalgd Ao i) Lgaaty Al

3 b
3.45% 4.75%
Compounded continuously monthly

How much would her investment be worth if the 5-year CD .b
was compounded continuously?
£I4Y) Balgil ) paaly S sall Al el Abli) o 13) Ll Aad Al
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3. Worldwide water usage in 1950 was about 294.2 million gallons. If
water usage has grown at the described rate, estimate the amount of
water used in 2000 and predict the amount in 2050.
1950 ale & Oglla 5:le 294.2 (Al g allall 5 gina Ao slall Dlginl S
(b adiiucal) plall jlakal | o auad ¢ ) gSiall Jamally slal) aladied adi ) 13)
2050 ale A laiall aB 559 2000 ol

N=Ny(1+7r%)*) , (annuallybs=(n=1) T

a. 3% annually.(3% L) P .
i il Jguaig gaul
1:!_5.:..544 3% LL]
2000 ple (1 ol
Slall flplle=N = No(1 + 1)*
/ N
il jacpdl
| SEUC S jge ]
2050 ple (2
(5]
U N = Ny x e**t
c. 3.05% continuously
ol 3.05%
2000 ple (1 foarall il Jala g gail
cJo i
N — N(,e’f{:"'
2050 pl=(2 _Jg Dl ¢l [;E”“ﬁé‘éjﬁam'ﬂ]
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d) f(x)=)" +1
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a) f(x)= x*+1
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Im g(x)=0

X —» —a0

Iim g(x) = o

X —» o0
lim g(x) = —oc0

lim g(x) =0

X =P 0O

If AED 1,000 is invested in

an online savings account earning
6% per year compounded
continuously, how much will be in
the account at the end of 10 years
if there are no other deposits or

withdrawals?
= AED 1,806.11

< AED 1,8Z20.03

Use the graph of the function
f(x) = 3* to write the eqution of the

graph below.
e -
(o8]
=8 |4 |O 4 | 8x
—4
[T 1 7%
20285 2024 p W%

g(x) =

adiﬂa Jss édlal\

X

1
o QA k) gl sia

| lim g(x) =00
B x.—r—oo
lim g(x)=0
lim g(x)=0
D X—» —
lim g(x) = —o0

wlea 2 AED 1,000 _laSi) a5 13)

piy aladl A 6% o Lasa (Fhan 5latie
Alaaas aS3 ¢ adudls AuS e Ao sas 4sln)

AIlha S5 Al 13 alee 10 52a dulgs 2 lead)
Al Clsaw i cileta) (o

0.l AED 1,822 12

a AED 1,819.40

4l f(x) = 3% Al Sl Jiall asisd

O h(x) =—3*+4a

O h(x) =3 *+4

O h(x)=—3*—4a4

O hR(x) =3*—4
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Determine the vertical asymptote of

the function y = In (x — 3) + 3.

A ) ) Jad 33
y=m(x-1)+3

.y =log(x —4) 0 Jsesn

b) (— 4,00)
d) (-4,4)

o ﬁh-..a“y T 1 h(x) =log,x A guasall L) Jhall Ll A
1 1 ! | S Tkl Sl A A s Laa g
e 4114, 1)
1A | A | f(x)=1log,(x+3)+1
=8 -4 (O] {4 | 8x] | B | £(x)=1log,(x—4)+1
TP ] [ | £ =log,(x—3)+1
1T T8 ¥ 1T |P | F&x)=—1log,(x—3)+1
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Evaluate In (eis) In (8—13) Jaanil) dad aagl

o O 3 O -3 O e
Evaluate the expression 3 1ne®. 3Ine’ il dud s
a. __1_ b. 15 C. E d. E_
15 5 3
Condense the expression i) Jales
3 3
log215 + 6 logzx — 7 log,x log215 + 6 logzx — - logx
where x > 0. X >0 Cua
, 15x° P 15+x° ; 15 + x© Py 15x°
a 0 e D 0 - i 0 ——— . g
82 3*1./'; 82 VJF 82 ﬁ Bz Vx_f-“

1
.31n?x——2—1n7(6—x) 408 ) g Janay] e

b) 1
V6 —Xx ) 1 6—x

A6 —Xx d VO —Xx
) In,

3
X 3x
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34Ine” —4lne’ b

a) 37 b) -340
c) 150 d -3
3lne’ — e lad
a) 10 b) — 6
c) 24 d) —10
Condense the expression oaadl) laly

1
2 logg(3x) — s logg(2x + 1).

20285 - 2024 A
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Express log 75 in terms of
log 5 and log 3.

O log3 + 2log5

O log3 - 2log5s

log 75 sl (o e
Jog3 slog5 alasiul

O log5-2log3

O log3 +5log2

The function is

1
dx) = ()| =5=

Asymptotes

a) y=0 b)x=20 c)y=1 dx=1

Find the exact value — 488110 48 22 of
In(—7)

a) —12 b) e c) 12 d)0
Express the logarithm 4 ai e sl oo e
using ]n(— ) pladdiudly

In2 , Ln5 5 In2 , Ln5

a) 2In2 — In5 b) 2In2 + In5

c) In2 — In5 d) 2In5 — In2
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Find the y — intercept p(x) =5*4+2

e ad)al) éhliﬁ

g.u\)l\ sl
a) y=20 by y=3 ¢ y=2 d) y=7
Find the exact value logx x2 4881 dasl) 2a of
a) —3 b) 3 c) 2 d) x
Find the exact value - A48l dadl) aa
In( 12 )
a) —12 b) e c) 12 d)0
Find the exact value In(—6) da8al) da8l) as gf
a) —6 b) undefined c) 2 d) 0.95
Express the logarithm ai e sl oo e
using In(1.6) pladialy
In2 | Ln5 In2 |, Ln5
a) 3ln2 — In5 b)3ln2 +In5 «¢) In2—-In5 d) 3In5—1In2
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Express the logarithm 4 ab e ol e e
using lll(— ) aladiuly

In2 , Ln5 5 In2 , In5

a) 2In2 — In5 b) 2In2 +In5 «¢) In2 —-1In5 d) 2In5 — In2

Express the logarithm
using

Ln3 , Ln7

49
(87

ah S slll e e
e\.\iﬁu‘.}
Ln3 , Ln7

a) 2ln7 — 4Iln3

b) 2In7 + 4Iln3

¢) 2In3 — 4In7 d) 3In7 — 2Iln3

Express the logarithm ai e sl oo e

using In(200) RIFCHT
Ln2 , Ln5 In2 |, Ln5

a) 3ln2 + 2In5 b) 3ln2 + In5 ¢) 3ln2 — 2In5 d)3ln
a1l adaldss

: _ — X __ &« &k
Find the y — intercept p(x) = 2 3 ) el
a) y=0 b) y=3 ¢ y=2 d) y=-2
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duabl e Ad)al)

The function i 1
e Tunctionis d(x) — (§ )x 3J3ﬁ\u1°

degreasing

a) (=o,0)  b)(0,0) ) (=,0) d)][0,0)

The function is _ x S B Jia Ay
increasing d(x) =6 5_yal)

a) (=o,0)  b)(0,0) ¢) (=,0) d)][0,c0)

Find the exact value logz 8 488411 dagdl) 3y
a) —3 b) 3 c) 2 d)8
Find the exact value 410841 A58l dal) as ol
a) 4 b) 1 c) 2 d)—1
Find the exact value In e 14 4881 4asl) aa f
a)l b) — 14 c) 14 d) e
St Eredl
Ficrrite
HOU
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